RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Amending Enrollment Resolution Nos. 97-144 and 12-301 to Correct Names, Roll Numbers, and/or Dates of Birth of Enrollment Applicants and Amending Enrollment Resolution No. 93-305 to Delete a Member who was Approved Twice)

RESOLUTION NO. 12-387

1	WHEREAS,	the Tohono O'odham Legislative Council is vested with the power to enact laws and
2		ordinances governing the enrollment and adoption of members (Article II, Section 2 $$
3		and Article VI, Section 1 (h) of the Constitution of the Tohono O'odham Nation); and
4	WHEREAS,	${\bf ArticlesVIIandVIIIof theNation'sEnrollmentOrdinanceprovidethattheEnrollment}$
5		Committee is responsible for reviewing enrollment applications and making
6		recommendations to the Legislative Council regarding the eligibility of applicants
7	!	(Ordinance No. 05-81, as amended; 14 T.O.C. Chapter 1); and
8	WHEREAS,	the Enrollment Program has determined that a number of resolutions approving
9		applicants for membership contain misspellings in the names of applicants, in correct
10		roll numbers, and erroneous dates of birth; and
11	WHEREAS,	the Enrollment Program therefore recommends that Resolution Nos, 97-144 and 12-
12		301 be amended to reflect the correct name spelling, roll numbers and dates of birth
13	1	for the individuals identified in the Amending Enrollment Resolutions list, which is
14	<u> </u>	incorporated by this reference; and
15	WHEREAS,	the Enrollment Program has determined that a member was erroneously approved
16	1	twice for membership: originally by Resolution No. 03-90 and again in Resolution No.
17		93-305; and
18	WHEREAS, 1	the Enrollment Program therefore recommends that Resolution No. 93-305 be
19		amended to delete the member identified in the Amending Enrollment Resolutions
20] 1	list, which is incorporated by this reference; and
21	WHEREAS, 1	the member who was approved in Resolution 03-90 will retain the roll number and
22		approval date identified in that original resolution.
23	NOW, THERI	EFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that Resolution
24	ľ	Nos. 97-144 and 12-301 are amended upon the effective date of that resolution to
25	1	reflect the corrected names, roll numbers and date of birth that are identified in the
26	A	Amending Enrollment Resolution list.
27	BE IT FIN	NALLY RESOLVED by the Tohono O'odham Legislative Council that
28	1	Resolution No. 93-905 is amended upon effective date of that resolution by deleting the
29	r	nember and corresponding information identified in the Amending Enrollment List.

	RESOLUTION NO. <u>12-387</u> (Amending Enrollment Resolution Nos. 97-144 and 12-301 to Correct Names, Roll Numbers, and/or Date of Birth of Enrollment Applicants and Amending Enrollment Resolution No. 93-305 to Delete a Membe who was Approved Twice) Page 2 of 3
1	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 08 TH Da
2	of OCTOBER, 2012 at a meeting at which a quorum was present with a vote of 2,780.60 FOR; -0
3	AGAINST; -0-NOT VOTING; and [01] ABSENT, pursuant to the powers vested in the Council by Articl
4	II, Section 2 and Article VI, Section 1 (h) of the Constitution of the Tohono O'odham Nation, adopted
5	by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistan
6	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of Jun
7	18, 1934 (48 Stat. 984).
8	
9	TOHONO O'ODHAM LEGISLATIVE COUNCIL
10 11	Man He Man-ca
12	1 I I I I I I I I I I I I I I I I I I I
13	Timothy Joaquin, Legislative Chairman
14	Janothy Journal, Degislative Charman
15	/h day of // 12012
16	
17	
18	ATTEST:
19	
20 21	June Gale L.
22	Evonne Wilson, Legislative Secretary
23	A
24	08 day of Octob , 2012.
25	7-5-5
26	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odhan
27	Nation on the 12 day of 1540her, 2012 at 4:28 o'clock, 4 .M.
28	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
29	upon his approval or upon his failure to either approve or disapprove it within 48 hours o
30	submittal.
31	
32	TOHONO O'ODHAM LEGISLATIVE COUNCIL
33	
34	Manuta Horaco
35	
36	/ Jimothy Joaguin, Legislative Chairman
37	V
38	
39	α
40 41	[X] APPROVED on the 16 day of October, 2012
42	
43	[] DISAPPROVED at <u>4/10</u> o'clock, <u></u> .M.
43 44	I J DISAL I ROVED atOCIOCK,M.
45	
46	
47	NED NORRIS, JR., CHAIRMAN
48	TOHONO O'ODHAM NATION
49	A CAROLIO O ODANAMI MIRION
50	
	d.

	(Amending Enrollment Resolution Nos. 97-144 and 12-301 to Correct Names, Roll Numbers, and/or Date of Birth of Enrollment Applicants and Amending Enrollment Resolution No. 93-305 to Delete a Membe who was Approved Twice) Page 3 of 3
	Returned to the Legislative Secretary on the day of
	October , 2012, at 4'54 o'clock, p.M.
	October, 2012, at 4:54 o'clock, p.M.
	Evonne Wilson, Legislative Secretary
I	
ı	
l	
I	
l	
l	
4	

ACTION: AMENDING ENROLLMENT RESOLUTION NOS. 97-144 AND 12-301 TO CORRECT NAMES, ROLL NUMBERS, AND/OR DATES OF BIRTH OF ENROLLMENT APPLICANTS AND AMENDING ENROLLMENT RESOLUTION

NO. 93-305 TO DELETE A MEMBER WHO WAS APPROVED TWICE

MOVED: COUNCILWOMAN MARY LOPEZ

SECOND: COUNCILMAN HILARION CAMPUS

DATE: OCTOBER 08, 2012

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL(Absent) (Roberta Harvey)(Present)	171.0	х			
342.0	(Roberta Harvey)(Present) 2. FRANCES G. ANTONE(Absent) (Vernon Smith)(Present)	171.0	x	ĺ		
CHUKUT KUK 302.2	1. ETHEL GARCIA (Sara Mae Williams)	151.10	х			
302.2	2. BILLMAN LOPEZ	151.10	x			ļ
GU ACHI	1. TIMOTHY L. JOAQUIN	122.45	х		·	
244.9	2. CYNTHIA E. MANUEL (Louis L. Johnson)	122.45	X		<u>. </u>	
GU VO 226.7	1. GRACE MANUEL (Floyd Flores)	113.35	X			
220.7	2. PAMELA ANGHILL (Roselda Lewis)	113.35	x		į	
HICKIWAN 186.3	1. LOUIS R. LOPEZ (Michelle Ortega)	93.15	x		· · · · ·	
100.3	2. SANDRA ORTEGA	93.15	x	;	i	
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	100.35	x			
200.7	2. EDWARD MANUEL (Gerald Fayuant)	100.35	x	ļ		
SAN LUCY 204.6	1. LORRAINE EILER	102.30	x			X
204.0	2. JANA MONTANA (Gloria Ramirez)	102.30	X			
SAN XAVIER	HILARION CAMPUS (Racheal Vilson-Stoner)	107.90	X			
215.8	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	107.90	x			
SCHUK TOAK	1. FRANCES B. STEPHENS (Anthony J. Rios)	84.90	X			
169.8	2. FREDÉRICK JOSE (Phyllis Cachora)	84.90	x			
SELLS	1. ARTHUR WILSON (Kimberly Mull)	237.85	х			ų ·
475.7	2. EVELYN B. JUAN MANUEL	237.85	X	ł		
SIF OIDAK	1. NICHOLAS JOSE	105.95	х			
211.9	2. MARY LOPEZ ()	105.95	X			
	2,780.60	2,780.60	-0-	-0-	[01]	